' 3985 S. Fletcher Road e Chelsea, Ml 48118
(800) 396-4642 e Fax (734) 428-7672
www.greenemfg.com

Greene Manufacturing, 1 C.

CBL-5464-0.STL

TOOLS REQUIRED FOR ASSEMBLY
Socket set, Open end wrench set, Cordless drill with
3/8" socket bit (Magnetic recommended).

BEFORE ASSEMBLING THE WORKBENCH
Read through the assembly instructions to
familiarize yourself with the order in which the
parts are assembled. We suggest that you clear

& vacuum the area where the bench is to be
assembled. Itis important that the bench is
assembled in the same sequence as instructed.

Attach the back brace to each
of the legs in 2 places. Bolts
should go thru the back brace
into the leg.

Use four 5/16 x 3/4" Hex Head
Bolts & four 5/16 Lock Nuts.

STEP 1

WA

A
A

A

5/16-18 x 3/4” Nylock Nut
Hex Head Bolt

Attach the shelf to the back brace
in 3 places using #8 x 5/8 black
SCrews.

Attach the shelf to the legs using
two 1/4 x 3/4" Hex Head Bolts &
two Lock Nuts per leg.

Bolts should go thru the shelf
into the leg.

STEP 2

VA

-
St

1/4 x 3/4" Nylock Nut Shelf to
Hex Head Bolt Back Brace



STEP 3

STEP 3

STEP 4

STEEL TOP WITH NO WOOD CORE:

Lower the top onto the leg assembly.

The top has pre-installed nuts in the support
rails that will line up with holes in the top of
the legs. Mount the top to the leg using
(12) 1/4 x 3/4" hex head bolts.

#

b STl

1/4 x 3/4"
Hex Head Bolt

STEEL TOP WITH WOOD CORE:

Lower the top onto the leg assembly

and center over base

assembly. 64” dimension of the top will run
the width of the work station. Fasten top to
base using the #14 x 1 lag screws.

LEVELER KIT OPTION

**SKIP THIS STEP IF YOU HAVE NOT PURCHASED THE LEVELER OPTION**

Thread 1 thin nut onto the leveler.

Place leveler into floor-mount hole at
the base of the leg or the base of the insert

if its an adjustable height bench. Thread the top

nut onto the leveler.

Loosen & tighten nuts to adjust the height
of your work bench.

3

AVA

AS

A

[




	CBL-5464-0-STL
	CBL-5464-0-STL2

